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Instructions :

RCLIETINEECIEEE NI ERINECCEIPE)
SECTION A :

Unseen Reading Comprehension

: TEFTCHeRhTY (TEHTcHS -1 )
SECTION B :

Writing Skills

: ITTIITHEATRLOTH_ (STIIeR SATHLT)
SECTION C :

Applied Grammar

: Ufsd-raenyq (Ufed - Taeier)
SECTION D :

Reading Comprehension

(i) SET F¥T97 TeER: GUST: i1 |
3G Jv7-97 4 aR G &/

The question paper has four sections.

(i) ¥eIP GUSH 3IFHT I UHITIT T FHT G117 |

Jed% GUE 3 I U &1 5778 W FHH & ferad 817 |

The answers to each section must be written at one place.

(iii)  FTGEI FHATAIJART SR TG |

Fo7-T7 & SJIR T -G&IT S99 & fora &1 |

15 ST

15 AT

30 AT

30 HET:

Write the question number according to the question paper.
(iv) TG T IR TEFHAT G714 |
g4t 7l & I qEhd 4 1718 |

Answer all the questions in Sanskrit.



@us: & (SECTION A)
AATSATIT— AT (STUTSATI— TSI )
Unseen Reading Comprehension 15 A

1.  eifaRady 3Tg=as ufeen Jeaye H&had 3T |
frfcTRad 31g=ea ol Ugeht faU 1T ¥ o 3T H&ahd | ST |

Read the following passage and answer the given questions in
Sanskrit.

ST WEE o ;. Bide: Wd | I8 9aH, B9 ded
fomafiean SRiqEeh feteed sRUfa afe ofavama |hed UTeg ST | 3Taua
FAd - ded ua oft wfafgar ] Sfem e e famr afem:
FOM: | aefE: foenfda: ada wHafiF: s avrguey eegdi |
TIETE: SAT: TaT THTTY STTEf= | Td O SHT: Tgiea amef: yaf= |

AT
I T&Ued 39 | 1x2=2
T 3158 H I AR |
Answer in one word.
() Sfte T fomm fomm afeem: swof: ?
(i)  TEIEIS % ST U wai ?

. qoiameRH 3U | 2x2=4
907 ITeRT H 3T I |

Answer in a complete sentence.

(i)  : AThcH T I ?

(i) o TFIRUGH JASHAT ¢

52/1 3 [P.T.O.
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IV.

o o M o
Jad[dehcq ¥ IdH 3T T AT TTdd |

fou T foehedt § 9 3foa W gt fotfae |

Choose and write the appropriate answer from the given options.

(%) ‘orefem:’ 3fd we uee fasom ?
() ferenfef: (i) =
(iil) afmeg (iv) 9reEs |
(@) ‘AoAgpara 3fd framaee o wdue menst Wy ?
(@) (ii) forenfef:
(i) &m: (iv) I |
(M) ‘vl we e fohy 3Teg TeIR! TR 7
() ST (i) "%
(i) afeH (iv) wdaT|
=) ' 3f vee T35 foreiiaoed o1 Wy ?
() ZEEmEy (i) S=Emy
(iii) T (iv) SRIgaEehUT |
3T TR hd TG Ik Teho forad |
3 TS o foIq IugeR ek Heeha | ferfa |

Write the appropriate title for this passage in Sanskrit.

SNfRad velieh IfSean TeaueH Tehd- 3T |
frefefiaa vefie ot et fou T i o 3T oepd | i |

Read the following shloka and answer the given questions in Sanskrit.

“STTTERT - YUY AT TEEI |
YRR U 9T e |1

TR 39 |
Teh o2 H I AT |

Answer in one word.

(@)

YT 3hid Hi=d ?

Vyx4=2

Ix1=1
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. qoiameRH 39 | 1x2=2
uof TRy | IR i |
Answer in a complete sentence.
() quF o wafd ?
(i) T fh warfa ?

[l exieeshedss: 3faq 3w facan forad | 1x2=2
fou MU foreredi ® @ 3fea 3w e faafaw |

Choose and write the appropriate answer from the given options.

(%) T=F5d Y I ?
i) =
(1) HI=E
(iii) =mae
(iv) AL |
(@) ‘IR’ 3 vee foetmug form ?
() SAufa:
(i) SToE:

(ifi) TTFR:
(iv) TR |

@ue: @ (SECTION B)
TATCHeReRTIY (TEFTCHE —<hTd )
Writing Skills 15 g

i ufa sreferRaay, v HesET-eweree: [T 3H: foreq | 15x10=5

i =1 T e fferftaa o =t Hes[w W o 7w wreai st et @ gl o
g?:%rﬁam

Complete the following letter, written to your friend, with the help of the

words given in the box and rewrite the same.

5 [P.T.O.



TSN -SHEEE:,
fafer: |

Rt ! ()
&R 9: |

I P AR | TTAHER ITETH (i) GEHAEEATY0 -

frferm (i)~ oI | IqEuIfeAT I1ad. 99 HEhRd - HETNUR

(iv) A | T THST: TAIATNEHMT: (v) My
Avaq | 3 g fogmee (vi) FAd | T SHT: ibeal et
(viiy — 3Fdd| 7T &M Hdal TEhdA U (vii) |

IqM AU T&hdd TN A (ix) | e ) T

HH YOS Hagaq |

T e,
ST |

HosquT
AfvEy, Sy, i, fommerd, weew,
AISIGH, haaea™, Jary, W9 ! &g |

4. 19 VEW o TCAT HoS[El VETRIeEM] HEEddl Usel TR FEehH
forea | 2x5=10
= fow 7u T =1 ol wespwn & fou MU w1eai st GEmaT § ute S%hd aral
4 T |

52/1 6



Describe the following picture in five Sanskrit sentences with the help of

the words given in the box below.

T, BET:, WA, U, TAH, IR, IheIH,
T, J&T:, IMMehiedh:, UTHIG Af: , THEE |

31T (OR)

HoS[oTEaRIeaMl derdy ffafad fawem s usafa axhaam:

TR TS fore |

HogoT # fou MU vreqt it wEmar @ ffaiad fowg w ater st |
IF=De Heephd H ARy |
Write a paragraph in five Sanskrit sentences on the following topic with

the help of the words given in the box.
[3 9
RESAL
S, &emomy, fomr, Sfed, ¥WmE, asee, geeEn, |,
STEmTar:, SISHTg, e, STeHE, gitad, 31U, vl Hewyui |
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@uE: 7T (SECTION C)
HATTTFAATRIUTY (ATTT e STHTT)

Applied Grammar 30 AZ:
5. FuifRaqarey W@isauey A4 afo=sg a1 e fored | 1x4=4

fafafaa e O Waiferd et 4 gt stean af-fa=de e fafau |
Write the underlined words of the following sentences after joining or

disjoining Sandhis.

() e Ui + Ty STaHTq FHemiaa |
(i) FrafER: a9 fumergpa: v |

(i) T + T IcaATERT AR vald |

(iv) TS shieT: shifeg IR |

6. ARG T@TTEAIGHT THH follg a1 Seqiaeheusd: e f/@ad | 1x5=5
fafafaa st § Taifera uel o1 a9 ¥t faug fou 7u fawmen & @
TR TR |

Choose and write the correct compounded or expounded forms of the

underlined words in the following sentences.

() o Tt fea |
() TE: giegor:
(i) oS = ufeqen: =
(iii) 9 = vedi = |
(@) fore 6t 99 9: 996 %o Fadl STIad TN |
(i) ehferger
(ii) forgeet:
(iii) fermgelteft: |
(M) e TR gt ga1: 3T |
() M= BATH =
(i) =g war
(i) sgF wert AfEH - |

52/1 8




OB USTIIGSES

(i) ey eTafase

(iii) TfeRgeROT |
(3) fopm o igeT Ay 7

(i) AT E,

(i) o= I

(i) ¥9 A |

7. AGTARIqaTRy W@IEqUeHl Shfauesl gasa faasy a1 3fuaq S™

forerets: forean forerq | 1x5=5
Tl st @ Warfsd el & Jehiaucadl sl Seeh AT Yk i 3rad
I forehenl ® @ g feafaw |

Write the underlined words of the following sentences after joining or
disjoining suffixes to the roots or words, selecting the correct answer
from the options given below.

(%) Trferent ot B el gt |

(i) 93 +73q (i) 93 + 3 (iii) 93 + W |
(@) g +IT SATfcTantd aTarieh I |

(i) WIEHFMET: (i) Hieamm (iii) HEHMT |
(1) HATYURE UEq + of | ST |

() wEam (i) mEwm (iii) #EA |
(F)  SET: gEET @ + q] 38aT 3URH(d |

() wEa (i) @AM (iii) FEAR: |
(5) T TR + SiY sRaHTeay TEadife |

OBREZURY O REZUE (iii) Teremrim

8.  renfeRaqarsry frream iy gos[umr yau: 3fed: sterade: Wi forad | 1x5=5
frfeafaa arerit § foh Tort 3 gfd wos # fau Tu 3fe o= wal & g
i |

Fill in the blanks in the following sentences with appropriate

indeclinable words given in the box.

52/1 9 [P.T.O.



() &~ Ul it |

(i) gd: sreUq TS |
(iii) o ! TreTarehTsl o foh ATy ?
(iv) ictTed Eadl
(v) ifera: STl ?
HaSHT
Sfg:, 9T, TFd, hel, T9: |
9. IAEEATRE o AR I | 1x5=5

3o T U8 R a1 U1 shifeu |

Choose the correct numerical words and complete the sentences.

() T f&=n == | (@ 9@, 994 1)
(i) TMRrRT: T | (33, B, ifor )
(i) feramen et QLR Tea= | (3, 5, 530 1)

(iv) — =% qu: ¥ | (T, TR, T )

(v) SAMGH 39— I Al | (YSENId, TS, ISl |)

10.  AfcTRadaTRy (@Tfsauey, TEH, & | Jaafasheds: 3taaq W foen
IYGUE T forad | 1x6=6

ffaRaa arerit 4 T@iferd 98 313 @ | fou 7o forereai # @ 3fom I ge
T[S, U ! TR o faRaw |

Choose the correct answer from the given options and correct the

underlined incorrect word in the following sentences.

(%) ‘@1 I gt |
() SR (ii) o
(iii) sfersht (iv) ®fereh |

52/1 10
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(@)

‘W Y= A T ¢

(i) = (i) st
(i) TeSf (iv) TS |
‘@ el qgafave 3eam: P

(i) =¥ (i) Ywa:
(iil) s&AE (iv) s&afd |
AT qEdeh THaeT 918 Hfedi |

() (i) HraTH
(iii) 913 (iv) 9t |
S B gEaehe wsf= |

() wfa (i) u3a:
(iii) Y39 (iv) 939 |
‘@ T i srfe |

(i) i (i) =t
(iii) Avad (iv) wfasafd |

wWus: 9 (SECTION D)
iga—Taateay (Utea—Taaie)
Reading Comprehension 30 AT

srefferiad marmst, U=, e = Ul YeayeHHTy, 3T Tk fored |

freferfaa mam, 9 IR A1 1 U fU U U o I wEhd H
Tty |

Read the following prose, poetry and drama passages and answer the

given questions in Sanskrit.

(1) T

“HTAIST | T8 T HIe: | Tavaw SIS, | FHernty TR S
3R JHIV | | Tghdd IRSdHM: S gdaH Jiasrefy = demmor:
ITEHT 1eft STa: 3eaa: e Yo 9 | 38 SIq. g 9 9 S
faefrd = g wdar faemmiser od formeramd awnfi | o1R!
St 2, “TeRedt i 53 gfe: ¢ A9, afE s e )

11 [P.T.O.
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AT

L.

II.

II.

ThUe 3L | 1
Teh 168 H I T |

Answer in one word.

9 9 foh Smaa ?

Tﬁﬁlﬁﬁqﬁ'{ﬁ | 1
9ot areR 1§ I i

Answer in a complete sentence.

Fre: Toh Torafa ?

Jedfaeheds: 3faay I ferean forad | 1x2=2

fau U foeredt # & 3foa T gAe fafaw |

Choose and write the correct answer from the given options.
(%) S 3t fRaTaee shque T ?
i e (i) ¥
(iii) I3, (iv) 3= |
(@) ‘gdar foemmise’ o ‘e 3 gamuE e TR 7
() IduHE (i) ™
(iii) T=d (iv) ST |

(&) W=
et yHYET AT e A SR |

uftersd %ol Y gy fageeft: 117

T4

L

II.

Tehved 3T | 1
Teh 32 H I ST |

Answer in one word.
AT e F: G 7
qUiaTeRA 3T | 1
oot 3R § 3 @R
Answer in a complete sentence.
forgeht: Fige vl TRIST TTF o ?
12




[II. Jedfdeheus: 3iaay W o forad | 1x2=2

fau T foreredt ® @ 3fod ST e fafeT |

Choose and write correct answer from the given options.

(%) ‘e 3 foRamaee foh U vatieh TG 7

() eHYE™ (i) Togeeh:

(iii) Yo (iv) % |
(@) ‘avdyem’ 3fa yee fasrse oy ?

(i) dr=H (i) TeNTH

(iii) T (iv) ®oH |

(3) Arear:
“geed: - g! fopmee 7 wad e g eS|

Fe: - (foww) Fage: | oR o1 Fa: FaKel: TRY | STEHT HaA
gaiy: |

ot - ot o et | Wi wgfy: Faf: SeSTReng 3 g
Tormfy = iy |

Fh: - I IFH I | 3R | T e et fedrear sterfiy,
SH1: TR e we g | TR sl o’ g
TG HeA: A A v e et @efa <
e: avid |

[. Uehded 36 | 1
Teh ¥Teg H 30T SIS0 |

Answer in one word.
3T TRY o gawl: 7

. YoiamRH 3T | 1
o7 TR H I A

Answer in a complete sentence.
AT IR Tk et ?
52/1 13 [P.T.O.



[II. Jedfdeheus: 3iaay W o forad | 1x2=2

Tew e feret § @ 3o 3 g ot |

Choose and write the correct answer from the given options.

() ‘ghir.” gfe foriworaess foh fosoameq ?

() TSER: (i) =2
(iii) wFEfTa: (iv) STSIFRIOT |
(@) ‘T=af<’ 3fa frames i duey ?
(i) hTH: (ii) ST
(iii) TTEd: (iv) T
12. refaRaderemTaT g we fasheds: foean foreq | 1x2=2

FrfaRaa el o1 agfua wa fashedt § @ e fafE |

Choose and write the correct gist of the following sentences from the

given options.

(F) THHAT AR qPI @ |

(i) FI: FIEHIHT A |
(i) T o1 e TOET TR |
(iii) T T I TTOHTET: STER: |
(@) ‘wefeRq gifor, wet S aeeg |
(i) e FHIAT 9 GHRETR L |
(i) §d 51 T IR Tee] gRaa: = W= |
(iil) 9 TSI T: HedTvl TFd o 99 |

13.  Hosud: ST foen stefaiaayeiesasa 319 I | 1xd=4
Ao | § TG U8 Ao (HTTiad gt Teiehl o 3774 ohi qU1 hiTeC |

Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box.

(%) “‘“fagra: g wrehsfaH =gs=a: Jehifdar: |
AN FEd I g 9 A 7 11
52/1 14




14.

15.

52/1

= - (i) ek fogTa: Ta Fesaa: Jehifar: |
(ii) ga 3 (Tgt) T g T I |
(@) “‘feid @ AT = SaeEAY LS |
3T T e | goweg s d 11
e - ot o T gfa o SaeHa-gfean
THT T (iii) | T o
TcIq_ (iv) |
ALl

RN, JTffaH, e, ST |

TETEAUGTH ST SRAHI e | 1x5=5
@TTeRd &I o TR W T Fmfor Fifsm|

Frame the questions on the basis of the underlined words :

(i) ST @ T TOEE ST |

(i) HoYH TS HE foRrd |

(i) TR & ¥ Fcdl W: G ST |

(iv) ITEUITIR] 3Feh 3caaT: A= |

(V)  STEUTEAYSYR TSTET STy i |

AL TARGAATRIT HATHATTERY foad | Ysx8=4
fefriaa aeRtt ohl T2 % ITgER faRan |

Write the following sentences in their sequential order.

() U foarerEs gy mR SHHEE: TSI | SUTAS: |

(i)  STAYHF=R o TATH TIATH S8 - |

(i)  TEIHIAT qF FHETIE N ITEAATT I Ted: |

(iv) Q1 o 3T YSIRT W@ cEaT: JrvrT: |

(v)  F GHeATIR AURTAMT STy 3Tfe=aT shfd |

(vi) HAYYH o SRV Yohd: Hi=ad Fvfad |

15 [P.T.O.



(vil) THISATTYRRY SeaHTERA e SHiigH 398k |
(vii) T SHET: T Yo Tl I 3T |

16. T@tEaueHr SaeTgaRy 19 foean fored| 1x3=3
@ifohd Ual o TEMZER 7ef e feaRaw|
Choose and write the contextual meanings of the underlined words.
() wReiaT T gl |
() "EH
(i) ST
(iii) 3 |
(@) ‘Foe R IR T 73 |
(i) HiET
(i) ST
(111) TMOTATT: |
(W) ‘e T A e |
() oA
(i) ¥,
(11) HEH |

52/1 16



